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" World Press Freedom Index” where India

Ranks 140t p world released by
(A) IMF

(B) Amnesty International

(C) Reporters without Borders
(D) None of the above

The agro climatic zonal research station of
western zone is located in

(A) Panipat
(B) Ambala
(C) Hisar
(D) Bawa]

Carborundum ig

(A) Tungsten carbide
(B) Silicon carbide
(C) Boron carbide
(D) Zinc carbide

>>>T= (10, 20, 30, 40, 50)
5T = T[2:4]
>>> print T

From the aboye
(4) 40,59
© 30,49
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(B) 30,40, 50
(D) 20,30, 49

The highg_st Population of Pigs wag found ip
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(A) T Fratze

(B) fferer

(D) Forh smatee

>>>T = (10, 20, 30, 40, 50)
>>>T1 = T[2:4)
>>> print T}
SR ST
(A) 40, 50

(©) 30, 40
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(A) Ofiug

(B) et
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IR 21 By 2
(B) 30, 40, 50
(D) 20, 30, 49
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7. —JI 1205 ﬁ '
A) 273 (B) 3
©) 2 (D) 4
earch Institute
5 Ha e yea
(A) 1982 (B) 1985
(C) 1988 (D) 1986

To which of the following city the capltal
of Magadha was shifted from Rajagaha ?

(A) Pataliputra (B) Taxila
(C) Banaras (D) Agra
If o and B are the roots of the equatlon
px3+qx +1=0 then o’B + [330HS

i -21p)
,(A)E(_q__i.r_p_) (B)_rﬁl__j__rl'i;
p ,p

| 2,2
© = (qp3 21p) D) ! (q vp22r p°)

What is the rank of India in the World
Happiness Report — 2019 released by
the Sustainable Development Solutions
Network for the United Nations ?

(A) 1561

(B) 1400

(C) 160"

(D) None of the above
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Let f(x)=——,x = -1 then the value of
x+1 _ :

o for which fof (x) = X is
(A) -1 By 1
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